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ΑΠΑΝΤΗΣΕΙΣ ΣΤΗΝ ΗΛΕΚΤΡΟΛΟΓΙΑ ΤΕΧΝΟΛΟΓΙΚΗΣ 
ΚΑΤΕΥΘΥΝΣΗΣ 

 
ΟΜΑΔΑ Α 

Α.1. β 
Α.2. α 
Α.3. δ 
Α.4. γ 
Α.5. α 
Α.6. α) Σ,   β) Λ,      γ) Σ,  δ) Λ,   ε) Σ. 
A.7. 1ος τρόπος 
x y x y x+y y+x x(y+x) y(x+y) x(y+x)+y(x+y) x(y+x)+y(x+y) x+y
0 0 1 1 1 1 0 0 0 1 1
0 1 1 0 0 1 0 0 0 1 1
1 0 0 1 1 0 0 0 0 1 1
1 1 0 0 1 1 1 1 1 0 0

( ) ( )
( ) ( )

ος        2  τρόπος

        x (y + x) + y (x + y) = x (y + x)  y (x + y) 

                                        = x + (y + x) y + (x + y)  

                                        = x + y x y + x y  

    

⋅ ⋅ ⋅ ⋅ ⋅

⋅

⋅ ⋅ ⋅

( ) ( ) ( )( )
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                                    = x + y x + x y + x y + y

                                        = x + y y + x  = x + y

⋅

⋅

 

ΟΜΑΔΑ Β 
Β.1.  

ολ

1 ολ
ολ 1

1 1

1 1

RR  = 
3

V  = I R
 άρα  I R  = I R    

V  = I R
R ΙI  = I R    I  = 
3 3

⋅ ⎫
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⋅ ⎭
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ολ

2 ολ
ολ 2

2 2

2 2

2R R 2RR  =  = 
2R + R 3

V  = I R
 άρα  I R  = I R    

V  = I R
2R 2ΙI  = I R    I  = 
3 3

⋅

⋅ ⎫
⋅ ⋅ ⇔⎬

⋅ ⎭
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3 ολ
ολ 3

3 3

3 3

2R R 2RR  =  = 
2R + R 3

V  = I R
 άρα   I R  = I 2R    

V  = I 2R
2R ΙI  = I 2R    I  = 
3 3

⋅

⋅ ⎫
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RV  = I
 άρα  2

V  = I R
R ΙI  = I R    I  = 
2 2

⎫⋅ ⎪
⎬
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Άρα  Ι1 = Ι3. 
B.2. 
ω = 100 rad/sec   φ0 = 0ο

α) XL = ωL= 100·0,03 = 3Ω 
2 2 2 2

LZ = R  + X  = 3  + 3  = 3 2 Ωβ)  

γ) L
Z

X 3 πφ  = τοξεφ  = τοξεφ  = τοξεφ1 = 
R 3 4  

δ) 0
0 z

V 300 πi = ημ(ωt + φ  - φ ) = ημ 100t - 
z 43 2

⎛ ⎞⋅ ⋅ ⎜ ⎟
⎝ ⎠

 

ε) εν εν z 0 0
1 π 1 2P = V Ι συνφ = V I συν = 300 50 2  = 7500 W
2 4 2 2

⋅ ⋅ ⋅ ⋅ ⋅  

στ) εν εν 0 0
1 1S = V Ι  = V I  = 300 50 2 = 7500 2 VA
2 2

⋅ ⋅ ⋅ ⋅ ⋅  


